

$$f(x) = \begin{cases} (a+1)(x+1); & x > 1 \\ 3a+2x; & x \leq 1 \end{cases}$$

$$x f(x) = f(-x) + a \Rightarrow x(a+1)(x+1) = (3a+2(-x)) + a = 3a - 2x + a$$

$$1 \cdot a = -1 \Rightarrow a = -1$$

$$f(x) = \sqrt{x} + \frac{1}{\sqrt{x}} + x / f(x\sqrt{x}), f(x\sqrt{x}) \quad \left(\sqrt{x-\sqrt{x}} = \frac{\sqrt{x}-\sqrt{x}}{x} / \sqrt{x+\sqrt{x}} = \frac{\sqrt{x+\sqrt{x}}}{x} \right)$$

$$\sqrt{x-\sqrt{x}} + \frac{1}{\sqrt{x-\sqrt{x}}} + x + \sqrt{x+\sqrt{x}} + \frac{1}{\sqrt{x+\sqrt{x}}} + x = (x+\sqrt{x})(\sqrt{x-\sqrt{x}}) + (x-\sqrt{x})(\sqrt{x+\sqrt{x}}) + \varepsilon$$

$$\sqrt{x+\sqrt{x}} \left(\frac{\sqrt{x-\sqrt{x}}}{x} \right) + (x-\sqrt{x}) \left(\frac{\sqrt{x+\sqrt{x}}}{x} \right) + \varepsilon = \sqrt{x} + \varepsilon$$

$$\left(x f(x) - x f(-x) = \varepsilon x^2 - x \right) \rightarrow \frac{\varepsilon}{x} f(x) - x f(-x) = \frac{\varepsilon}{x} (x^2 - x)$$

$$x f(-x) - x f(x) = \varepsilon x^2 + x$$

$$x f(-x) - x f(x) = \varepsilon x^2 + x$$

$$-\frac{\delta}{x} f(x) = \varepsilon x^2 + x + \frac{1}{x} x^2 - \frac{\varepsilon}{x} x$$

$$-\frac{\delta}{x} f(x) = \frac{x \cdot x^2 + x}{x}$$

$$f(x) = \frac{-x \cdot x^2 - x}{\delta}$$

$$\frac{x \cdot x^2 + x}{x} = \frac{x \cdot x^2 + x}{x}$$

$$x = -x \Rightarrow f(x) + f(0) = 14 + 2m + 3m - 1$$

$$x = 0 \Rightarrow x f(0) = 3m - 1$$

$$(3m-1) \cdot x = 14 + 2m - 1$$

$$9m - 3$$

$$\Rightarrow \varepsilon m = 11 \Rightarrow m = \varepsilon \cdot 11$$

$$x f(0) = 3(\varepsilon \cdot 11) - 1$$

$$f(0) = \frac{3 \cdot 11}{\varepsilon}$$

$$f(x) = ax + b$$

$$f\left(\frac{1}{x}\right) = \frac{a}{x} + b$$

$$f(x) + f\left(\frac{1}{x}\right) = ax + b + \frac{a}{x} + b = \frac{ax^2 + 2bx + a}{x}$$

$$\frac{ax^2 + 2bx + a}{x} = \frac{3x^2 - 14x + 3}{x} \Rightarrow \begin{cases} a = 3 \\ b = -7 \end{cases} \Rightarrow f(x) = 3x - 7$$

$$f(-1) = 3(-1) - 7 = -10$$

$$9 \cdot 11 = 99$$

$$\frac{11}{9}$$

$$\frac{11}{9}$$

$$\frac{1}{z} - \frac{1}{z - \frac{1}{r}} + \frac{1}{z - 1} = Df = (-\infty, 0) \cup \left[\frac{1}{r}, 1\right]$$

$$D_f = R - \left\{ -\gamma, -\frac{\Delta}{\varepsilon}, -1, 0, 1 \right\} \quad | \quad \mathbb{R}$$

I

127, 127, 1

$$\begin{array}{r} -r \quad b \\ \hline - \quad \circ \quad + \quad \circ \quad - \\ \quad \downarrow \quad \downarrow \quad \downarrow \\ \quad 2 \quad 2 \quad 2 \end{array}$$

$\delta \phi$
 $-r$
 $b = \frac{-r}{r} = \frac{r}{r} \checkmark$

$$a = -\frac{1}{r}$$

$$\xrightarrow{x_{71}} \sqrt{3x - 2y} = \sqrt{4x - 2y_0}$$

$$\begin{array}{r} -3 \\ - \overline{) 60} \\ \underline{60} \\ 0 \end{array} \quad \text{II}$$